

Lake & Peninsula Borough School District

Dear Superintendent & Board President,

We appreciate the support that your school board and the other boards in Alaska provide through your membership in AASB. The work we have accomplished as an Association is only possible because of the individual commitment and contribution of our members.

AASB was established by a small group of school board members in 1954 to provide support for their boards and districts. Then, as is the case today, the membership and Board set the direction and identified the goals of the Association.

The Association has created a strong and united voice for advocacy on behalf of all of Alaska's youth. It has raised public awareness about the needs of students and has elevated the effectiveness and credibility of school boards in their governance role. The membership is highly regarded as youth advocates by the legislature, the executive branch, the state's business community and the general public.

AASB staff and the membership provide visible, credible representation before the Alaska Legislature and the U.S. Congress. AASB's credibility was instrumental in the creation of the Alaska Initiative for Community Engagement (ICE) and through the Consortium for Digital Learning (CDL). Both of these have provided more than \$33.65 million to member districts over the past nineteen years.

AASB staff provides direct services to every school district and school board in the state. To truly appreciate the value of AASB, one need only imagine what children's education and your Boardroom would be without AASB. The enclosed Participation List shows the services and activities your Board has utilized recently.

The value and benefits of membership in AASB are linked to that strong voice and advocacy.

Dues History and Structure

In 1988 when AASB developed its first long range plan, our members were surveyed to tell us what kinds of services, programs and representation they wanted from their association. We then determined how much revenue would be required to support the organizational structure that could provide what they requested.

A committee consisting of School Board members from around the state developed the dues structure in 1991. It is designed on elements that recognize the diversity and sizes of districts and their budgets, level of service generally used by large and small districts, the benefit of statewide representation to all districts, and a desired balance of revenues from dues and other revenues from services. The elements of the dues structure include a base fee computed using Average Daily Membership (ADM), with correspondence students weighted at 90%, the same amount used in the foundation formula. The District Cost Factor (DCF) identified for each district in the Public School Foundation

program then adjusts this base fee. A second major component of the dues structure is an assessment of your district's general budget at .00011. These two, the base fee and the assessment, are combined to generate the amount in dues.

The goal in development of the AASB dues structure was to arrive at a fair and equitable method of assessing dues, one that would take into account a district's ability to pay and the level of service normally used by districts of different sizes.

We are a diverse set of school districts, ranging from Pelican with just under a dozen students to Anchorage with close to 45,000. That diversity, and the economy of scale that goes along with it, requires some method to create an equitable means to assess dues. The Dues Committee tied its method to similar criteria used in the foundation formula. The elasticity provided in the foundation is the DCF. The 1991 Dues Committee identified the DCF as one of the primary elements upon which the dues would be assessed. Since then, AASB has shared in the increases and declines of state support to schools. In 1996 AASB dues were reduced by 15% to address a decline in state funding. That reduction has never been reinstated.

Originally the Board of Directors determined that a balance of funding sources should be divided between 50% dues and 50% fees. In actuality, as AASB has grown and established grant-based funding sources such as Alaska Initiative for Community Engagement (ICE), that balance has shifted so that about 7% is derived from dues, 78% from grants and major contracts, 14% from workshops and services and approximately 1% from miscellaneous revenue.

The mission of AASB is to advocate for children and youth by assisting school boards in providing quality public education, focused on student achievement, through effective local governance. Dues provide a firm foundation to achieve our mission by providing the foundation for our core services to School Boards.

The support of all school boards is critical to keeping AASB services available and affordable. Without your support, the Association's voice on behalf of school governance would not be as strong or as credible.

Your dues payment for the coming year is \$9,948.

Sincerely,

Michael Swain, Jr.

AASB Board President



BOARD STANDARDS

A Framework for School Boards

Your school district is a vital member of the Association of Alaska School Boards, our state's leading advocate for public education. Together, we work to ensure equity by strengthening the connections between schools, families, tribes, communities, and government so that every Alaskan child has the opportunity to receive a quality public education.

To be effective elected officials, it is crucial to establish public confidence in our ability to oversee the district. One immediate step a school board can take is to adopt standards for themselves. AASB has developed a Board Standards framework to help guide districts:

VISION

STRUCTURE - ACCOUNTABILITY - ADVOCACY -

CONDUCT & ETHICS

Each of these five standards is directly tied to our primary purpose as board members: student achievement.



POLICY SERVICES

POLICY ASSISTANCE AND DEVELOPMENT

Policy is the most valuable management tool educational leaders can have to operate their district in a legal, fair, transparent, and consistent manner. Our comprehensive range of services supports and improves your district's policy-making through consultation, workshops, research, and custom policy development.

POLICY REFERENCE MANUAL

AASB's copyrighted Policy Reference Manual contains over 400 policies along with administrative regulations and exhibits organized in an easy-to-read format and numerical finder index. Subscribers receive annual updates reflecting new and changing laws and educational trends.

CUSTOM POLICY DEVELOPMENT

Onsite policy workshops allow you to customize your entire policy manual or just specific sections. The policy revision process combines document resources and expert staff so your district can update your complete policy manual within a very short time.

POLICY LIBRARY

You're only a phone call away from getting the sample policies you need to develop your own policy statements. AASB has a library of Alaska school district policy manuals, as well as access to the NSBA nationwide policy network and other state association policy experts.



BOARD DEVELOPMENT

BOARD DEVELOPMENT WORKSHOPS

Whether you're a rookie or a veteran board member. being a leader in public education governance is one arena in which continuing education and professional development are critical. Our workshops are designed to welcome you to the world of public service and get you started on the road to effective governance.

CARL ROSE LEADERSHIP AWARD

Each year AASB awards the Carl Rose Governance Award to a school board member who demonstrates outstanding local school board leadership and making a positive difference for students.

OUTSTANDING SCHOOL BOARD OF THE YEAR

Each year, local school boards are nominated for their service to students. This prestigious award recognizes the "best of the best" who give their time to educate the young people in their community.

WEBINARS

Our one-hour lunchtime webinars help familiarize boards with processes and practices of good boardsmanship.

SALARY AND BENEFITS REPORTS

AASB is the only source for comparative information on Alaska teachers, classified, and administrator salaries and benefits.



SCHOOL IMPROVEMENT

CHALLENGE FOCUSED, SOLUTION-BASED

A holistic, integrated approach to school improvement builds support and engagement by all stakeholders and improves student achievement outcomes. AASB works with school districts to develop solutions to specific challenges.

Areas of focus can include:

- Governance
- Leadership
- · Data analysis and decision making
- · Family and community engagement
- · School climate
- · Cultural responsiveness
- · Social and Emotional Learning
- · Equity assessment
- · Curriculum review and development
- · Goal setting and planning
- Post-secondary pathway development
- · Facilitation and coaching services
- · IT mentoring

TRAUMA-ENGAGED SCHOOLS

AASB has worked with partners to develop the Transforming School Model: A Trauma-Engaged Framework for Alaska. AASB uses this framework and others to work with district and school teams to establish a system-wide approach to Trauma-Engaged schools. This includes professional development, planning, coaching, consensus building, community cocreation, and other related services.

SCHOOL CLIMATE & CONNECTEDNESS SURVEY

The AASB School Climate and Connectedness Survey (SCCS) is a tool to develop school climate and strengthen connections between students and staff—factors proved to be linked to academic outcomes.

The survey measures school improvement, community engagement goals, measure school climate, student connection to adults & peers, social and emotional learning, and observed risk behaviors at school. The SCCS platform makes survey administration, reporting, and analysis interactive and user-friendly.

Support includes:

- · Survey implementation support
- · Custom questions option
- · Interactive district and school reports
- · Board and staff workshops on results



🖎 COMMUNITY ENGAGEMENT

A SHARED RESPONSIBILITY

The Engagement branch of AASB, the Alaska Initiative for Community Engagement, ensures a high level of participation and collaboration with youth, families, community partners, and tribes in the shared responsibility for preparing Alaska's youth for the future.

YOUTH SERVICES

This includes our Youth Leadership and Youth Advocacy Institutes, coordination and support for district youth leadership summits, support for students, and boards with student representatives. AASB provides *Youth on Boards* as a reference.

COMMUNITY COORDINATION & COLLABORATION

Working in coordination with communities is a great predictor for positive school climate and positive student outcomes. AASB supports communities and schools working together on coordinated plans, hosting community dialogues, and supporting the collective impact process for student outcomes.

CULTURAL INTEGRATION

Using the cultural safety model, AASB offers an assessment of district outcomes and cultural responsiveness. AASB provides facilitation and tools for assessing and building plans to more fully integrate language, culture, and practices to support all students.

FAMILY ENGAGEMENT

AASB offers an Alaskanized framework on Family Engagement and partnerships. AASB staff facilitates planning with the school district and school staff to establish comprehensive, equitable, and systematic approaches to linking families to their student's learning, well-being, and progress.

GRANT PARTNERSHIPS

Alaska ICE partners with school districts and regional organizations to work in prioritized areas of school improvement, policy, or engagement. Our staff can serve as the host organization, grant manager, evaluation partner, or technical assistance provider.

AASB has partnered with organizations and tribes to write and manage grants through the Alaska Native Education Program Grant and Indian Education Demonstration Grant. AASB has also provided funds to districts through partnerships and funding through private foundations.



🖎 TRAINING & EVENTS

AASB ANNUAL CONFERENCE

Each November, this gathering of education leaders brings together most of the school board members in the state. Conference programs feature renowned speakers, education clinics, and a resolution session that gives the association its direction.

YOUTH LEADERSHIP INSTITUTE (YLI)

This event takes place in November alongside the AASB's Annual Conference in Anchorage. YLI is focused on building student leadership skills and personal leadership style, increasing youth communication, and advocacy skills.

BOARDSMANSHIP ACADEMIES

Held three times a year during fall, winter, and spring. Workshops are offered that will improve members' knowledge of issues affecting schools in Alaska.

LEGISLATIVE FLY-INS

Held twice each session, the Fly-Ins equip you with the basics of the legislative process, provide an opportunity to discuss current education issues, and help you connect with your legislative delegation.

YOUTH ADVOCACY INSTITUTE (YAI)

This event takes place alongside the AASB Fly-In in Juneau. Students work with school board members, legislators, and peers to build advocacy and leadership skills and practice these skills with legislators increasing student understanding of the legislative process.

MAINTENANCE DIRECTORS WORKSHOP

A workshop for maintenance directors and employees to share and gain knowledge about the vital role facilities maintenance plays in the management of the district.

EXECUTIVE ADMINISTRATIVE ASSISTANT WORKSHOP

This workshop, tailored for district Administrative Assistants, covers a range of topics that include policy, managing personnel files, Robert's Rules, and more!

CHARTER SCHOOL ACADEMY – ACADEMIC POLICY COMMITTEE (APC)

These workshops are designed to enhance boardsmanship skills and guide the APC through training to help them be more effective with their governance roles.



LEGISLATIVE ADVOCACY

PROCESS PARTICIPATION

As a school board member, understanding how the Alaska legislature functions is your key to ensuring our students receive the best education possible. AASB partners with school districts in a variety of ways to support board members in being knowledgeable advocates and engaged participants in the legislative process.

LOBBYING

Our Executive Director coordinates AASB's lobbying effort and ensures that school board members are prepared to lobby during each legislative session effectively.

THE SESSION NEWSLETTER

AASB's newsletter *The Session* keeps you up-to-date on the legislature's activities. Each issue provides analysis of unfolding events, summaries of education-related legislation, a schedule of education bills scheduled for committee hearings during the week ahead, current email addresses for legislators, and much more. *The Session* is published each Monday while the legislature is in session to help you start your week informed.

TESTIFY BY TEXT

AASB's new Text Alert system simplifies the process of providing timely legislative testimony on crucial education issues. When key bills requiring public comment are scheduled to be heard by House and Senate committees, AASB will send a text alert to your mobile phone. By tapping on a link in the text and completing a one-minute survey, your testimony will be added to the official legislative committee record.

LEGISLATIVE FLY-INS

AASB hosts two Fly-Ins each legislative session, offering board members an opportunity to receive briefings on priority education issues, meet face-to-face with lawmakers and government officials, provide testimony at committee hearings, and convey your board's perspective on critical issues affecting your district and the state. Whether you are a veteran or a newly elected school board member, you will receive the training and information necessary to be prepared to advocate in the Capitol for your students.

FEDERAL RELATIONS NETWORK

AASB is your link to the National School Boards Association's Federal Relations Network. This is your opportunity to become involved with the legislative process at the national level.



PAPERLESS MEETINGS

BOARD MEETING SOFTWARE

Improve efficiency, free up support staff time, and save funding by utilizing AASB's paperless board meeting software.

Developed and supported by the Texas and Nebraska School Board Associations, districts have access to an intuitive system with board member and community versions, creating public transparency while protecting sensitive student and personnel information.



STRATEGIC PLANNING

A ROADMAP TO SUCCESS

A Strategic Plan should focus on your district's priorities and action plans for student learning and achievement, provide clear guidance for superintendents and staff, help keep the focus on outcomes, and be useful for evaluating the superintendent based on goals laid out in the plan.

AASB encourages every school district to have a strategic plan in place that sets the direction for the next 3-5 years. Our strategic plan facilitation service brings together stakeholders to develop a goal-oriented plan focused on student success by establishing a mission and vision for the district and developing specific action plans that benefit student learning in measurable ways.



SUPERINTENDENT SEARCH

EXPERT PROCESS FACILITATION

The Association of Alaska School Boards has been conducting successful and economical superintendent searches for over twenty years.

Our Superintendent Search service provides expert facilitation of the entire search process, including identifying the needs of the district, recruiting candidates, conducting background searches, facilitating interviews, and all the steps to help with the hiring process.



PUBLICATIONS

COMMENTARY NEWSLETTER

AASB's widely read monthly newsletter helps keep education leaders, professionals, and stakeholders informed about statewide education developments, and stay current on boardsmanship, policy development, advocacy, and state budget issues.

TRANSFORMING SCHOOLS-A FRAMEWORK FOR TRAUMA ENGAGED PRACTICE IN ALASKA

This framework brings together lessons learned by school staff and community members within Alaska while integrating school-wide trauma-engaged approach to improving academic outcomes and well-being for all students. Using stories, research, and best practices, this resource is designed for use by school/community teams seeking to make our schools a place of positive transformation and significant learning for each student.

HELPING KIDS SUCCEED-ALASKAN STYLE & HELPING LITTLE KIDS SUCCEED-ALASKAN STYLE

These inspiring, practical, and easy-to-read handbooks serve as a tool for individuals helping to make Alaskan communities places where youth can grow up to be strong, capable, and caring. Outlines 40 developmental assets young people need to shape their success.

YOUTH ON BOARDS

This updated edition provides reflection questions and an assessment checklist to determine how involved and supported students are within their board roles, and clarify the next steps for more meaningful engagement with student school board members.

FAMILY ENGAGEMENT FRAMEWORK

This document shares effective approaches for Alaska educators to help improve family partnerships and boost student success. School personnel are key to making families feel welcome, building confidence in their role, and providing specific and meaningful ways in which they can help their child succeed. A resource for school boards, community partners, and others to better understand their role in developing policy and building capacity for effective school-family partnerships. (Release: November 2019)

1111 WEST 9TH STREET
JUNEAU, AK 99801



(907) 463-1660 aasb@aasb.org aasb.org

November 2018- October 2019

November 2018- October 20	November 2018- October 2019									IcΩ
association of ALASKA school boards	Anuual Conference	Academies/Fly-In Ex. Admin	Trainings Boards/APC/ASB	Policy Services	Superintendent Search	Digital Learning	2019 School Climate Survey(SCCS)	Alaska ICE (Other Support to Districts))istricts (STEPS,	June Nelson Scholarship
DISTRICT								Ala	Dist	
Alaska Gateway	*		*	*		*				
Aleutians East	*	*	*	*	*		*			*
Anchorage	*	*	*	*			*			*
Annette Island	*	*	*	*			*	*	,	
Bering Strait	*	*	*	*			*	*	*	*
Bristol Bay	*	*		*						*
Chatham	*	*	*	*			*		*	*
Chugach	*	*		*						
Copper River	*	*	*	*	*	*				*
Cordova	*	*		*			*			*
Craig	*		*	*						*
Delta-Greely	*	*	*	*	*					*
Denali	*	*	*	*			*			*
Dillingham	*	*	*	*			*			*
Fairbanks	*	*	*							*
Galena	*	*	*	*						*
Haines	*			*						*
Hoonah	*	*	*	*			*		*	
Hydaburg	*	*	*	*		*	*		*	
Iditarod	*	*	*	*		*	*			
Juneau	*	*	*	*			*		*	*
Kake	*	*	*	*			*			
Kashunamiut	*	*	*	*	*		*	*		
Kenai	*	*	*	*	*					*
Ketchikan	*	*	*	*			*			*
Klawock	*		*	*		*	*			
Kodiak	*	*		*			*		*	*
Kuspuk	*		*	*						
Lake and Peninsula	*	*		*			*			*
Lower Kuskokwim	*	*	*	*			*			*
Lower Yukon	*	*	*	*		*	*		*	*
Matanuska-Susitna										*
Nenana	*	*	*	*						*
Nome	*	*	*	*	*		*		*	*
North Slope	*	*	*	*	*		*			*
Northwest Arctic	*	*	*	*			*	*		*
Pelican			*	*						
Petersburg	*	*	*	*			*			*
Pribilof	*									
Sitka	*	*	*	*			*		*	*
Skagway	*	*		*						*
Southeast Island	*		*	*						
Southwest Region	*	*	*	*		*	*			*
St. Mary's	*	*		*						*

November 2018- October 2019

association of ALASKA school boards	Anuual Conference	Academies/Fly-In Ex. Admin	Trainings Boards/APC/ASB	Policy Services	Superintendent Search	Digital Learning	2019 School Climate Survey(SCCS)	Alaska ICE (Other Support to Districts)	Districts (STEPS,	June Nelson Scholarship
Tanana	*		*	*	*					
Unalaska	*			*			*			*
Valdez										
Wrangell	*	*	*	*			*			*
Yakutat	*	*	*	*	*		*		*	
Yukon Flats	*	*		*						
Yukon-Koyukuk	*		*	*		*	*		*	*
Yupiit	*	*	*	*		*	*	*		
Mt. Edgecumbe										*

Winners

ELEMENTS OF AASB DUES STRUCTURE FYE 12/31/2020

A Dues Committee of school board members from around the state developed the dues structure in 1991 with technical assistance from the Southeast Regional Resource Center, in conjunction with AASB's Long-Range Plan. The objective in development of the AASB Dues structure was to arrive at a fair and equitable method of assessing dues that would take into account a district's ability to pay and the level of service normally used by districts of different sizes. Other issues considered by the committee in developing the dues structure included:

EQUITY – given the diversity of the sizes of districts in the state and their corresponding budgets, how could the dues structure address ability to pay without unduly burdening any member?

LEVEL OF SERVICE – larger districts might be able to meet more of their immediate needs through their staffing, while smaller districts must rely on the association to provide them with direct services they can't afford to staff for. On the other hand, AASB provides standard services and opportunities to all members through its publications and conferences that are needed equally by all member districts regardless of size.

STATEWIDE REPRESENTATION – AASB provides a statewide presence for all school boards through its representation before the Legislature, State Board, etc. All districts benefit from the presence regardless of size.

BALANCE OF DUES AND FEES – much of AASB's income is derived from entrepreneurial enterprises – direct services, conferences, contract work. This is done at a lower rate than outside providers can offer because dues underwrite it. Dues should not provide so much revenue that there is no incentive for AASB to earn more through services. On the other hand, AASB is limited in the amount of revenue it can generate through services because of the size of its staff and membership. There should be a balance between dues and fees for the AASB budget. Keeping those considerations in mind, the following elements were incorporated in the dues structure:

(1) District Size/Pupils in average daily membership (ADM)

District ADM	Base Fee - \$
100 or less	1,700
101 – 250	3,400
251 - 500	4,250
501 - 1,000	5,950
1,001 - 2,000	7,650
2,001 - 3,000	9,350
3,001 - 8,000	12,750
Over 8,000	17,000

- (2) Multiply the base fee by the District Cost Factor (formerly Area Cost Differential) identified for each district in the Public School Foundation program, AS 14.17.460.
- (3) Assess .00011 of each district's current year general fund budget. This ties AASB's revenues to the general financial condition of its members if district revenues rise, AASB will receive a nominal increase; if district revenues fall, AASB shares in that hardship as well.
- (4) Combine (2) and (3) for total AASB dues. No district will pay less than \$2,000. The districts in the two largest ADM categories will incur a 1% increase annually.

Association of Alaska School Boards 2020 Dues - FINAL

	DCF						GF Budget DCF X Base										Con	nparison	Dues				
	ADM	Study ADM	CS ADM	2020		Fee	District		DCF X	2020			t .00011	Fee plus		2020			2019	_	20 Dues		
School District		Correspond.	90% of	Adjusted		Base	Cost Factor		ase Fee	_	Projected GF	_	ssessed		sessed		Billed		Billed		2019	as % of GF	
ADM over 8,000	Residential	correspond.	30 /0 OI	Aujusteu		Dase	COST TACTO	-	ase i ee	_	rojecteu or	_	issesseu	Ass	esseu -		Dilleu		Diffed		2013	as // 01 O1	
Anchorage	44,839	1,098	988	45,827	\$	17,000	1.000	\$	17,000	\$	624,197,362	\$	68,662	\$	85,662	\$	27,358	\$	27,087	\$	271	0.004%	
Fairbanks North Star	12.999	291	262	13.261	\$	17,000	1.070	\$	18,190	\$	201.997.502	\$		_	40.410	\$	23,449	\$	23,217	\$	232	0.012%	
Kenai	7,928	753	678	8.606	\$	17,000	1.171	\$	19,907	\$	145,362,469	\$, -		35.897	\$	23,449	\$	23,217	\$	232	0.016%	
Mat-Su Borough	16,937	2,137	1,923	18,860	\$	17,000	1.070	_	18,190	\$	253,509,433	\$			46,076	\$	23,449	\$	23,217	\$	232	0.009%	
ADM 3,001to 8,000	10,001	2,	1,020	.0,000	Ť	,000		Ť	.0, .00	Ť	200,000,.00	\$	-	Ť	.0,0.0	Ť	20,	Ť	20,2	Ť		0.00070	
Galena	296	3,900	3,510	3,806	\$	12.750	1.391	\$	17.735	\$	28,326,689	\$	3.116	\$	20.851	\$	20.851	\$	20,805	\$	46	0.074%	
Juneau Borough	4,594	42	38	4,632	\$	12,750	1.145	\$	14,599	\$	70,243,200	\$	7.727		22,326	\$	22,326	\$	22,364	\$	(38)	0.032%	
Lower Kuskokwim	4.065	-	-	4.065	\$	12,750	1.663	\$	21,203	\$	123,477,909	\$		_	34.786	\$	19.720	\$	19.525	\$	195	0.016%	
ADM 2,001 to 3,000	1,000			1,000	Ť	,		Ť	,	Ť	.==,,	Ť	,	Ť	,	Ť	,	Ť	,	Ť		0.0.070	
Ketchikan Borough	2.204	70	63	2,267	\$	9,350	1.170	\$	10,940	\$	40,063,433	\$	4.407	\$	15,346	\$	15,346	\$	15,053	\$	293	0.038%	
Kodiak Is. Borough	2,146	105	95	2,241	\$	9.350	1.289	\$	12,052	\$	45.071.016	\$		_	17.010	\$	17.010	\$	16.983	\$	27	0.038%	
Lower Yukon	2.001	_	_	2.001	\$	9,350	1.861	\$	17,400	\$	56.835.722	\$	6,252	\$	23.652	\$	23,652	\$	23.519	\$	133	0.042%	
ADM 1,001 to 2,000	_,			_,	Ť	.,3		Ť	,	Ť	,	Ť	,		-,	Ť	.,	Ť	.,	Ť			
Bering Straits	1,767	-	-	1,767	\$	7,650	1.998	\$	15,285	\$	58,470,235	\$	6,432	\$	21,716	\$	21,716	\$	21,841	\$	(125)	0.037%	
Nenana	190	1,100	990	1,180	\$	7,650	1.338	\$	10,236	\$	9,432,950	\$	1,038		11,273	\$	11,273	\$	11,225	\$	48	0.120%	
North Slope Borough	1,983	-	-	1,983	\$	7,650	1.791	\$	13,701	\$	70,035,539	\$	7,704	\$	21,405	\$	21,405	\$	21,547	\$	(142)	0.031%	
Northwest Arctic	1,952	34	31	1,983	\$	7,650	1.823	\$	13,946	\$	65,659,472	\$	7,223	\$	21,168	\$	21,168	\$	23,375	\$	(2,207)	0.032%	
Sitka Borough	1,175	12	11	1,186	\$	7,650	1.195	\$	9,142	\$	21,101,513	\$	2,321	\$	11,463	\$	11,463	\$	11,533	\$	(70)	0.054%	
Yukon/Koyukuk	296	1,575	1,418	1,714	\$	7,650	1.835	\$	14,038	\$	19,995,865	\$	2,200	\$	16,237	\$	16,237	\$	16,196	\$	41	0.081%	
ADM 501 to 1000						•											•						
Delta/Greely	757	64	58	815	\$	5,950	1.241	\$	7,384	\$	11,637,118	\$	1,280	\$	8,664	\$	8,664	\$	8,610	\$	54	0.074%	
Denali Borough	222	750	675	897	\$	5,950	1.332	\$	7,925	\$	10,554,026	\$	1,161	\$	9,086	\$	9,086	\$	9,073	\$	13	0.086%	
Nome	674	15	14	688	\$	5,950	1.450	\$	8,628	\$	13,493,948	\$	1,484	\$	10,112	\$	10,112	\$	10,341	\$	(229)	0.075%	
Southwest Region	611	-	-	611	\$	5,950	1.685	\$	10,026	\$	19,422,364	\$	2,136	\$	12,162	\$	12,162	\$	12,245	\$	(83)	0.063%	
Valdez	624	33	30	654	\$	5,950	1.170	\$	6,962	\$	14,605,177	\$	1,607	\$	8,568	\$	8,568	\$	8,547	\$	21	0.059%	
ADM 251 to 500																							
Alaska Gateway	344	41	37	381	\$	4,250	1.594	\$	6,775	\$	10,205,267	\$	1,123	\$	7,897	\$	7,897	\$	7,990	\$	(93)	0.077%	
Annette Island	300	-	-	300	\$	4,250	1.338	\$	5,687	\$	9,385,849	\$	1,032	\$	6,719	\$	6,719	\$	6,678	\$	41	0.072%	
Chugach	77	418	376	453	\$	4,250	1.496	\$	6,358	\$	5,149,071	\$	566	\$	6,924	\$	6,924	\$	6,849	\$	75	0.134%	
Copper River	330	111	100	429	\$	4,250	1.316	\$	5,593	\$	7,549,897	\$	830	\$	6,423	\$	6,423	\$	6,407	\$	16	0.085%	
Cordova	350	3	3	353	\$	4,250	1.234	\$	5,245	\$	6,958,102	\$	765	\$	6,010	\$	6,010	\$	5,932	\$	78	0.086%	
Craig	262	240	216	478	\$	4,250	1.206	\$	5,126	\$	6,277,629	\$	691	\$	5,816	\$	5,816	\$	5,887	\$	(71)	0.093%	
Dillingham	450	2	2	452	\$	4,250	1.346		5,721	\$	9,557,901	\$,	\$	6,772	\$	6,772	\$	6,820	\$	(48)	0.071%	
Iditarod Area	194	152	137	331	\$	4,250	1.846	_	7,846	\$	8,661,808	\$		\$	8,798	\$	8,798	\$	8,764	\$	34	0.102%	
Kashunamiut	313	-	-	313	\$	4,250	1.619	\$	6,881	\$	8,469,595	\$		\$	7,812	\$	7,812	\$	7,797	\$	15	0.092%	
Kuspuk	367	-	-	367	\$	4,250	1.734	\$	7,370	\$	13,373,101	\$	1,471	\$	8,841	\$	8,841	\$	8,897	\$	(56)	0.066%	
Lake & Pen. Borough	312	1	1	313	\$	4,250	1.994	\$	8,475	\$	13,393,473	\$	1,473	\$	9,948	\$	9,948	\$	9,965	\$	(17)	0.074%	
Petersburg	461	-	-	461	\$	4,250	1.244	\$	5,287	\$	8,774,470	\$		\$	6,252	\$	6,252	\$	6,215	\$	37	0.071%	
Unalaska	430	-	-	430	\$	4,250	1.441	\$	6,124	\$	8,396,258	\$	924	\$	7,048	\$	7,048	\$	7,003	\$	45	0.084%	
Wrangell	330	-	-	330	\$	4,250	1.159	_	4,926	\$	5,962,032	\$	656	\$	5,582	\$	5,582	\$	5,583	\$	(1)	0.094%	
Yupiit	464	-	-	464	\$	4,250	1.723	\$	7,323	\$	12,076,928	\$	1,328	\$	8,651	\$	8,651	\$	8,698	\$	(47)	0.072%	
ADM 101 to 250	1				L.			_				Ļ		<u> </u>		L.		Ļ		Ļ			
Aleutian East Borough	217	-	-	217	\$	3,400	1.991	\$	6,769	\$	9,069,450	\$	998	\$	7,767	\$	7,767	\$	7,766	\$	1	0.086%	
Chatham	163	22	20	183	\$	3,400	1.576	\$	5,358	\$	4,434,165	\$		\$	5,846	\$	5,846	\$	5,856	\$	(10)	0.132%	
Haines Borough	230	12	11	241	\$	3,400	1.200	\$	4,080	\$	4,306,436	\$	474	\$	4,554	\$	4,554	\$	4,563	\$	(9)	0.106%	
Hoonah	115	-	-	115	\$	3,400	1.399	\$	4,757	\$	2,979,558	\$		\$	5,084	\$	5,084	\$	5,090	\$	(6)	0.171%	
Klawock	114	-	-	114	\$	3,400	1.302	\$	4,427	\$	3,089,120	\$	340	\$	4,767	\$	4,767	\$	4,771	\$	(4)	0.154%	

Skagway	122	-	-	122	\$ 3,400	1.174	\$ 3,992	\$ 2,520,193	\$ 277	\$ 4,269	\$ 4,269	\$ 4,284	\$ (15)	0.169%
Southeast Islands	206	5	5	211	\$ 3,400	1.403	\$ 4,770	\$ 6,584,848	\$ 724	\$ 5,495	\$ 5,495	\$ 5,493	\$ 2	0.083%
St. Mary's	185	-	-	185	\$ 3,400	1.624	\$ 5,522	\$ 4,401,600	\$ 484	\$ 6,006	\$ 6,006	\$ 5,998	\$ 8	0.136%
Yukon Flats	222	-	-	222	\$ 3,400	2.116	\$ 7,194	\$ 8,692,402	\$ 956	\$ 8,151	\$ 8,151	\$ 9,975	\$ (1,824)	0.094%
ADM 100 or Less														
Aleutian Region	23	-	-	23	\$ 1,700	1.939	\$ 3,296	\$ 1,679,360	\$ 185	\$ 3,481	\$ 3,481	\$ 3,488	\$ (7)	0.207%
Bristol Bay Borough	85	3	3	88	\$ 1,700	1.478	\$ 2,513	\$ 3,765,333	\$ 414	\$ 2,927	\$ 2,927	\$ 5,453	\$ (2,526)	0.078%
Hydaburg	82	20	18	100	\$ 1,700	1.504	\$ 2,557	\$ 2,402,327	\$ 264	\$ 2,821	\$ 2,821	\$ 2,822	\$ (1)	0.117%
Kake	100	-	-	100	\$ 1,700	1.459	\$ 2,480	\$ 3,197,232	\$ 352	\$ 2,832	\$ 2,832	\$ 2,805	\$ 27	0.089%
Pelican	11	-	-	11	\$ 1,700	1.477	\$ 2,511	\$ 638,867	\$ 70	\$ 2,581	\$ 2,581	\$ 2,574	\$ 7	0.404%
Pribilof Islands	62	8	7	69	\$ 1,700	1.691	\$ 2,875	\$ 1,888,385	\$ 208	\$ 3,082	\$ 3,082	\$ 3,076	\$ 6	0.163%
Tanana	48	-	-	48	\$ 1,700	1.786	\$ 3,036	\$ 1,639,957	\$ 180	\$ 3,217	\$ 3,217	\$ 3,201	\$ 16	0.196%
Yakutat	65	18	16	81	\$ 1,700	1.412	\$ 2,400	\$ 2,064,826	\$ 227	\$ 2,628	\$ 2,628	\$ 2,606	\$ 22	0.127%



1111 West 9th Street * Juneau, Alaska 99801-1811 (907) 463-1660 * (907) 586-2995 Fax

Invoice

Lake & Peninsula School District ATTN: Accounts Payable P.O. Box 498 King Salmon, AK 99613

Date	Invoice #
1/7/2020	18330

P.O. No. Terms Tax ID: 92-0098760 Quantity Rate Description Amount 9,948.00 9,948.00 2020 AASB Annual Membership Dues **Total** \$9,948.00 Payments/Credits \$0.00 **Balance Due** \$9,948.00